BEuomE miEQ)

_A_B _5»5_® R5R
(1) 5a = gkm?
(2) 2a = pha
(3) 4ha = okm?
(4) 5cm? = gmm?
(5) 8km? = om?
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EuoH:E mKQ)

(1) 5a = 0.0005 km?

<fEER>

la  =100m?

lkm? =1lkmxlkm
=1000mx1000m
=1000000m?>

1km2(2 1000000100 = 100002
£2T. 5+10000 = 0.0005km?

(2) 2a = 0.02 ha

<fEER>

lha  =100a

£2T. 2100 = 0.02ha

(3) 4ha = 0.04 km?

<fiREr>

lha =100a
=10000m?>

1km? =1kmx1lkm
=1000mx1000m
=1000000m?>

1km2(3 100000010000 = 100ha
£92T. 4100 = 0.04km?

(4) 5em? = 500 mm?

<#R3>

lem? =lcmxlcm
=10mmx10mm
=100mm?

£2T. 5%100 = 500mm?

(5) 8km? = 8000000 m?

<fiREr>

lkm? =1lkmxlkm
=1000mx1000m
=1000000m?>

£2T. 8x1000000 = 8000000m>
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